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Ottt 29 41,600 46,600 /5,000
201 223 28,600 26,600 2,000
01 At22t2ltl 4,000 2,000 2,000
OO0ttt 224 S35 7L (A==, JIE
&3t 8) 1,500,000& 1,500
Ol UE ANBE HE4E
500,000 500
OO0ttt S 8IS
1,000,000& *22] 2,000
02 S5=24g4l 24,600 24,600 0
Ootgt==22d AZHI(BR)
3,000,000 «6& 18,000
O0tZU =22 HJIR=
6,600,000& 6,600
206 M=l 3,000 3,000
01 MHZH| 3,000 3,000
Ootgidt=2t 2 W2 3,000,000& 3,000
401 AlEHIZL S0 10,000 10,000
01 Al&H| 10,000 10,000
OOtZ U dt==2t AlE T2
10,000,000 10,000
== ASAIEE 29 12,887 11,940 947
101 @12A4H| 2,387 1,940 447
MU IIMZZ2NSES 2,387 1,940 447
Ol SAIEE Hx 22 2,387
—0l=J| =Y 193,440 2 +6& 2,322
—1NEES 2,321,280&%17.5/1,000 41
— & HEE 2,321,280&+10/1,000 24
201 er23y| 4,500 4,000 500
02 S3=gHl 4,500 4,000 500
Ol SAIERE HAE |RF 78
4,000,000 4,000
O3t HISAIAE 2H(SalHl)
500,000 500
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
OU=-aSAEE 228 W2 (A, &
Hl S) 2,000,000 2,000
401 Al HIZ S OHbI 4,000 4,000 0




SN JIEED
M ANESY DBt &5
oSl 2R3 AEEE 29 (chol @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 4,000 4,000 0
O+ ZAIEE Ald SRI2Z
4,000,000& 4,000
OlZUf= dSAER 2 12,500 12,500
201 fet=2 3| 5,000 5,000
02 S3=gHl 5,000 5,000
OOtZUE= ASABEE s 7Y
5,000,000& 5,000
206 MH=HI 3,500 3,500
01 MHZH| 3,500 3,500
O0tZU A= ASAERE 28N
3,500,000& 3,500
401 A& HIX R0 4,000 4,000
01 AlZH| 4,000 4,000
OOtZU A= ASAERE FAl2c
4,000,000& 4,000
ADIE HIAEHIS(MA) AR 29 65,811 36,600 29,211
101 e124d| 33,211 0 33,211
M ORNZZ2NSE S 33,211 0 33,211
OMa ASAIEE 28 HREX 33,211
—JlZ2= 26,396,000 26,3%
— %X 91,9202 x1&* 11 1,012
—22EE 29,853, 1202 %3.545% 1,059
—H|RAEE 1,058,290 %12.81% 136
—=0le= 29,853,120 *4. 5% 1,344
—1EEE 29,853, 120&*17.5/1,000 523
—&HEE 29,853, 120&+10/1,000 29
—&E&= 2,441, 17021 2,442
201 223 15,200 17,200 A2,000
01 At22telt] 2,200 2,200 0
OMAASAISRE 425 7Y
1,700,000 1,700
O dSAIgE HE48
500,000 500
02 S3=gHl 13,000 15,000 22,000
OADIE HIAEHIE AIEE Y
10,000,000 10,000
OAIEEH| FXI2cltl 3,000,000& 3,000
202 04l 2,400 2,400
01 =LHAHI 2,400 2,400
Otz 25 Y2F8 U0
20,0002 * 1102/« 12 2,400
206 M=Hl 10,000 12,000 /2,000
01 M=8l 10,000 12,000 22,000




2A: JI=E2SH
B ADIESY Jlb 25
o JlaEE AEIE 2Y (12l M2
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OUBAE N2 2 (=, 32 S)
10,000,000& 10,000
401 A& B2 20HY| 5,000 5,000
01 AlEHI 5,000 5,000
OHAE HE A4 2=
5,000,000& * 14! 5,000
D==AIHANS 80,000 70,000 10,000
==Z0F AlHAIS 80,000 35,000 45,000
307 2I2+01A 16,000 8,000 8,000
02 QIRHEAAIH B X 16,000 8,000 8,000
OSMD+ S¥E S5 RA%A HX X2
16,000,000 16,000
402 IZER=0IH 64,000 27,000 37,000
01 QIZEXH2 A 2 2 (RERITH &) 64,000 27,000 37,000
ORCI THHH D18 =& Al
50,000,000 50,000
OMES ASA= &2 AlY
14,000,000 14,000
THAAIE A 165,260 174,760 A9,500
= 40,000
= 12,150
Al 113,110
M2 SSAZ THHHEHXT T4 AlE ALY 50,760 50,760 0
307 2I2+01A 50,760 50,760
02 QIRHEAAIH B X 50,760 50,760
OLNZZE M2 THEHHX =4
45,000,000 45,000
O xtdst L& ME K&
14,400,000%40% 5,760
ANEMIHE =2tal =Z M LN THEE JI=E2AE 80,000 0 80,000
= 40,000
Al 40,000
402 BI2HR=0l M 80,000 0 80,000
= 40,000
Al 40,000
02 QIZEXHE AL B X (01 & THEA) 80,000 0 80,000
OANEINT =2tA =Tl 2N THE=
=23 AE 80,000,000 80,000
= 40,000
Al 40,000
22 OI0IE D18 ADIE &Y 2=AAE B3 10,500 0 10,500
= 3,150
Al 7,350
402 BI2HR=0l M 10,500 0 10,500




22X JlsE3l
B ADIESY Jlb 25
SRl HAAE AL EER=E)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
= 3,150
Al 7,350
02 QIZIAHEAIE B A (OIMTHE) 10,500 0 10,500
O GO JIEH ADIE HY BaAlAd
2= 15,000, 000%70%& 10,500
& 3,150
Al 7,350
A0 SOOI D8 HHEX 228 & 248 K& 24,000 0 24,000
T 9,000
Al 15,000
402 Q12201 ™ 24,000 0 24,000
= 9,000
Al 15,000
02 QIZIXHEAIE B E(OIMTHE) 24,000 0 24,000
OAIE 01 SEI0IE JIE HIOIET 22 %
A48 X&A 30,000,000 *80% 24,000
& 9,000
Al 15,000
SIE| S & A S A 25,200 19,600 5,600
oF| BHE 54 7AYA HE XA 9,600 9,600 0
307 QIZt0IA 9,600 9,600
2 QIZHEAMANEEX 9,600 9,600
Oztsll B s4 pAA HE K&
24,000, 0003 *40% 9,600
FlLIE BEdHE 4 A3%A ME XA 15,600 10,000 5,600
307 QI2t0I A 15,600 10,000 5,600
02 CIZHEAAMAE R 15,600 10,000 5,600
OFLI2 SHE S8 AALA HE X8
15,600,000 15,600
=g ADls 22 70,000 240,000 A 170,000
T 21,000
Al 49,000
OIEtHa s SEEA ASS JIsEa 70,000 70,000 0
= 21,000
Al 49,000
402 2I2EXHE20I ™ 70,000 70,000 0
== 21,000
Al 49,000
02 QIZIAHEAIE B A (OIMTHE) 70,000 70,000 0
Ootg &= SN ASe J|=E=
100,000,000 *70% 70,000
& 21,000
Al 49,000
WA =sI| e 2 1,619,637 1,142,905 476,732




M =28
BH: YSigs)|8 S
CHR: AZESR0F EX(AY)AIY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 109,350
Jl 3,833
= 282,513
Al 1,223,941
AZRER0F B (AIY)AIY 332,480 190,500 141,980
= 88,850
< 36,313
Al 207,317
sHEgos LMl XA 73,600 73,600 0
= 36,800
Al 36,800
206 MH=Hl 19,600 19,600 0
= 9,800
Al 9,800
01 M=4l 19,600 19,600 0
s&2 dols(=3taly) 2 X2
19,600,000& 19,600
= 9,800
Al 9,800
307 glztol & 54,000 54,000 0
= 27,000
Al 27,000
02 2B YA E X 54,000 54,000 0
O=Z2 S (Ss0tMNA0ISE) S
| 54,000,000& 54,000
= 27,000
Al 27,000
U3 S F9ES E MY 29 50,000 0 50,000
[ 12,500
Al 37,500
101 @124H| 23,916 0 23,916
= 5,979
Al 17,937
M ORINZZENSE S 23,916 0 23,916
Ogalis tZ LN 8 o2Ad| 23,916
—0EQd AAHI(OI=S)
2,060,740« 1E =102 20,608
s 5,182
Al 15,456
— ¢ x=g 78,8803 x1H 0 710
& 178
Al 532
-2 (A, QY S)
2,397,980 2,398
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BH: YSigs)|8 S
CHR: AZESR0F EX(AY)AIY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 599
Al 1,79
—0Z22¥ O=4 200,000 %1 200
&< 50
Al 150
201 et 3| 23,480 23,480
== 5.870
Al 17,610
01 At22t2lt] 16,680 16,680
onzess 7Y 4,000,000 4,000
< 1,000
Al 3,000
O8 =2 S ot 222 M
280,000+ 115 3,080
= 770
Al 2,310
OXt&r& Ryl 800,000& x1H+11& 8,800
< 2,200
Al 6,600
OZR& 1=l 200,000 x4 800
= 200
Al 600
02 S3=gHl 6,800 6,800
OXtg ==l 6,800,000& 6,800
== 1,700
Al 5,100
202 04l 1,350 1,350
= 337
Al 1,013
01 =LHA LI 1,350 1,350
Ogais tZ & 2H WS
150,000+3H 3! 1,350
= 337
Al 1,013
206 M=l 1,254 1,254
< 314
Al 940
01 MHZH| 1,254 1,254
OgMe 24 HE +¢ 1,254
—20[AHE JIE 7Y
100,000 7043 700
= 175
Al 525




M =28
BH: YSigs)|8 S
CHR: AZESR0F EX(AY)AIY (EEEE))
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—Sdis 2¢ JIEtE 2
554,000 554
= 139
Al 415
LSE A MM FEIIERE 4,380 3,900 480
201 et 3| 1,540 1,540 0
01 At 22|l 1,540 1,540 0
Os%E Mool =+ M=
77,0002 *10JH*22] 1,540
202 04l 2,400 1,920 480
01 2LHoIH 2,400 1,920 480
ONgag g2Em Ao
20,0002 x12+103|x 12 2,400
301 EtE NS 440 440
11 #AIAMHIXI 2 S 440 440
08, = dgfus 41 24
88,0002 +5% 440
ZEE sHSA A THEHEEX] & 70,000 70,000 0
< 21,000
Al 49,000
402 QI”F X201 & 70,000 70,000 0
= 21,000
Al 49,000
02 QI A2 AL E R (0IHTHEA) 70,000 70,000 0
Ozl sEEA AlE MBHEA =4
100,000, 000& *70% 70,000
=S 21,000
Al 49,000
235 AAXZ A 6,000 10,000 24,000
< 1,800
Al 4,200
301 EtE NS 6,000 10,000 24,000
= 1,800
Al 4,200
14 DBt 23 6,000 10,000 24,000
OE8& XAX# 6,000,000& 6,000
= 1,800
Al 4,200
B SoliE dEHSM 2E2F=Xel A 3,375 3,000 375
== 1,013
Al 2,362
307 212+01& 3,375 3,000 375
< 1,013
Al 2,362
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2A: JlsE3u
HE: JYStisI|e 2
ol Astgsa 29 A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—=01H3 1,027,025% 2% 2,055
—1E28d 399, 30%5& x2H 79
—AHHEE 228,225 x2H 457
201 Ler23H| 69,600 53,320 16,280
01 At 2elt] 43,800 33,520 10,280
O=2E0M3a SqorMal|
150,000& x 12& 1,800
O0IM=Z ZTEX A 9002 *40,000& 36,000
O=gsiIM=EY 2HE3
500,000 *43| 2,000
OnlME 228 BE HE
1,000& *4,000& 4,000
02 2324l 25,800 19,800 6,000
O=dE0IMEA AIE&RXI2E
500,000 *30& 15,000
OsgEiME4 B2 d2(38)
1,500 #6002 E{* 123 10,800
206 =4l 80,000 71,000 9,000
01 =Yl 80,000 71,000 9,000
O0IMZ LS i K 75,000
—10E 7 (Bacil lus subtilis)
100,000 *200E 20,000
—HIE0l2(Bacil lus velezensis)
100,000 #2002 20,000
—HBIEIZ?(Bacil lus thuringiensis)
15,000,000& 15,000
— 84217 (Beauver ia bassiana)
200,000& *100% 20,000
OlldzE dEs M= 5,000,000& 5,000
REOMZS MA AS Al 70,000 70,000 0
T 21,000
Al 49,000
201 Ler23H| 5,000 4,000 1,000
= 1,500
Al 3,500
01 AtR2elt] 5,000 4,000 1,000
ODIMZ ASAER 2HES
440,000& *1Jl 2~ *53] 2,200
& 660
Al 1,540
Olld=E S =2
200,000 *7E*23] 2,800
= 840
Al 1,960
206 MZH| 65,000 66,000 21,000




M JlsEs
Zal: JfsrelisI|u 2y
ol Astgsa 29 A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 19,500
Al 45,500
01 =4l 65,000 66,000 1,000
O0IME HHEE HIX 60,000
—28Hd 2 (Rhodobacter spp.)
100,000 +200£ 20,000
= 6,000
Al 14,000
— 4tz (Lactobaci | lus spp.)
100,000 *200£ 20,000
= 6,000
Al 14,000
—222eHChlorella spp.)
100,000 +200£ 20,000
= 6,000
Al 14,000
OnlME MBS M2
50,000 *20E5 53] 5,000
= 1,500
Al 3,500
=4 HMME DS S 25 AlY 60,000 60,000 0
= 18,000
Al 42,000
206 =4I 60,000 60,000 0
= 18,000
Al 42,000
01 =4 60,000 60,000 0
OF4h 4FH M2 0|42 = X 60,000
—HRIHE SIS BAGTA K O
ME 100, 000& x200 £ +35 60,000
= 18,000
Al 42,000
SEEEY 22 38,742 38,086 656
101 @124d 26,742 26,086 656
04 JI2tHI2E2 S Ex 26,742 26,086 656
OSgHEA JIZINZ2 X 2124d|
2,403,500 1+ 100 = 24,035
OSEZEA JIZNZZ2A 282 2,707
—AdLEE 24,035,0002+3.545% 853
— LB 852,040 %12.81% 110
—=0= 24,035,000 *4. 5% 1,082
—125E 24,035,000& *1.75% 421
—MHEH 24,035,000 * 1% 241
206 =4 12,000 12,000
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M =28
BH: YSigs)|8 S
ol Astgsa 29 A (SH9 H2)
SA - ZE - B2(30) - HRAS of v G o HIDE2
MK, 224 =PI+ S 88 M=
200, 000%*29 *23] 11,600
= 2,900
Al 8,700
SAUAXEN 0IATY EXSAHMZY]) 3,833 3,725 108
Il 3,833
206 M=l 3,833 3,725 108
Jl 3,833
01 =l 3,833 3,725 108
OBANEH 0/BF2 ELAN ME
3,833,000 3,833
Il 3,833
=2k B 23 MY 9,400 22,600 213,200
= 4,700
Al 4,700
101 @124H| 8,024 20,876 A12,852
= 4,012
Al 4,012
SIS EEN = 8,024 20,876 A 12,852
OJIE2L EAME BRI 0I21Y)
2,403, 7003 x 18«34 2 7,212
= 3,606
Al 3,606
OJIsenr 2448 EX0d 282 812
—2ZES 256,000 256
= 128
Al 128
—IRLEE 33,0002 33
= 17
Al 16
—=0ld= 325,000& 325
= 162
Al 163
—NEEE 126,000 126
= 63
Al 63
—&HEE 72,000 72
= 36
Al 36
206 M=Hl 1,376 1,724 A348
= 688
Al 688
01 MHZH| 1,376 1,724 N348
OJtseR 88 M= 1,376




M =28
T DsresI|e sy
el etgsa 29 X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—E&lHl =5 HI3E
7,00024 %5071 +33] 1,050
= 525
Al 525
—IIEEL 248 A (EEN 2)
326,000& 326
= 163
Al 163
Holls OIZEE - MEHA 2 18,000 18,000 0
= 5,400
Al 12,600
201 et23| 7,500 6.000 1,500
= 2,250
Al 5,250
01 AtR2t2|HI 3,500 3,000 500
Odoisdittal 2H=8
400,000 52 2,000
= 600
Al 1,400
Ogaisnzz 2E=2S
250,000 +63] 1,500
= 450
Al 1,050
02 S3=gHl 4,000 3,000 1,000
Ogdisda[0E 2] AIESX2el
2,000,000 +2JH 2= 4,000
= 1,200
Al 2,800
401 Al HIZL 201 10,500 12,000 21,500
= 3,150
Al 7,350
01 Al&H| 10,500 12,000 1,500
Ogoisalcte 228 SA
10,500,000 * 10K 2~ 10,500
= 3,180
Al 7,350
golis 24X 229G 3,000 3,000 0
= 900
Al 2,100
301 EtE NS 3,000 3,000 0
= 900
Al 2,100
14 IIEt2 83 3,000 3,000 0
Os&= dolls 22X 28 3,000
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